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Note

Bkl

MAY - 20216/II—C

SOCIAL WORK

Paper II

HUTSTRTE
goatent 11

Time Allowed : 75 Minutes]
: This Paper contains Fifty (50) multiple choice questions. Each question

[Maximum Marks : 100

carries Two (2) marks. Attempt All questions.

LN ~
qd =T ST e

: 1 YU THYT UATE (50) SgUi U STRd. Wedsh YAl €I (2) T 3T

Social work research primarily
focuses on :

(A) Social work intervention
(B) Social welfare programme
(C) Social welfare policies

(D) Social work administration

Which one of the following is not a
probability sampling ?

(A) Systematic sampling
(B) Stratified sampling
(C) Cluster sampling
(D) Quota sampling

A researcher who has already some
knowledge about a phenomenon but
he/she wishes to know more about,
adopts :

(A) Exploratory research design
(B) Descriptive research design
(C) Explanatory research design

(D) Experimental research design

[T e G 8Ad: § W od ¢
(A) TSI e Aeowed

(B) AMIRSTR  HedTo Y

(C) TS hedmo] &
(D) 9HST h1d GIMEA

WICATeTdeh! IV TS AT e g5t
T 2

(A) HRAEG T e

(B) W@ 91 fae

(C) Ysteh -1 fae
(D) ke T Fae

TEIE HeNEehrd e feerdtarera gas
AT A ST AR feerdtaraa
AR SV == 3o8l STEed™ dl
ETeliedeh! HeMal Taas hidl ?

(A) STOYUCHS HINEH  SARES]
(B) AUMHIHE HINEA SRS

(C) TICETHIMHES HINEH  ARTEET
(D) IR WeieA SR

[P.T.O.



Match the following for their
association and choose the correct
answer from the codes given below :
List I
(1) Karl Pearson
(1) Student
(z71) Wilcoxon
(zv) Man-Whitney
List II
(1) T-test
(2) U-test
(3) Chi-square
(4) Sign ranked test
Codes :
@) @)
A 3 @
B) 2 @
e @ 3 @ @
D @2 3 1 @

Consider the following statements

@i) (v)
“4) (@)
4 3

and select your answer according to
the codes given below :
Assertion (A):In
research, resear-
chers prefer to have
hypothesis.
Reason (R) : Quantitative rese-

quantitative

arch is primarily
based on deductive
paradigm
Codes :
(A) Both (A) and (R) are true
(B) Both (A) and (R) are not true
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

4.
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el fededr 9 ArEamgEta ey
HOH=AT SUR 3T Siedl a3
erell fededn Gohdaisgd A I

IREEIE

et 1
() hre fusrs
(i) ferneft
(iii) TacTerma=m
(iv) H-fet

It 11

(1) A=

(2) &

(3) HI-WN

(4) W (g W
Hehdich :

@) @) @) (o)
A 3 1 @ @
B 2 @O @ O3
© @ B3 @ @
M @2 B 1 @
wrefied faum enfor srom=n foear e

Eet foden shdiedd AT 3R

IREEIRE

faam (A) : F=aTHE GINEAEE
TR STITH YAUH
12111 e B o

HAUT (R) : 9&IATCHE® GINeF B
qegq: frifaa S
YrETeR STEMRd 3R

.

(A) aﬁr’ (A) 9 (R) &R 3Ted

(B) =1 (A) 9 (R) g 3TRa

(C) (A) 8 SR e U (R) I
3T

(D) (A) T Fehid 38 901 (R) & SRR
3T




The Sexual Harassment of Women

at  Workplace (Prevention,

Prohibition and Redressal) Act was

passed in :

(A) 2014

(B) 2013

(C) 2012

(D) 2011

Assertion (A) :Affirmative action
is a  positive
discrimination.

Reason (R) : It protects the
interests of a
particular margi-

nalized section of

the society.

Choose the correct answer from the

codes given below :
Codes :
(A) Both (A) and (R) are true and

(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true but
(R) is not the correct

explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
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&=l oot Afeaia ifTe o2
(wfqerer, sigT 37 FARIhToT) ShIEreT shIveen
LT A s = |

(A) 2014

(B) 2013
(C) 2012
(D) 2011

faam™ (A) : BIHNHE® Fdal @
YHRHEF 95 3.

T fafeme

T (R)

[a o

el feded Heahdrhiqd dTg ST

IREEINE

Tehdiah :

(A) (A) & (R) Sl s&X 3fed 3for
(R) T (A) ¥ 3T TIRIHIT 3T

(aV N

(B) (A) 9 (R) Tl SR T&d 9Ul

(R) T (A) ¥ 3T TIRIHIU RN

(C) (A) & SN 3 T (R) & Ih
Sl

D) (A) B & 3 90 (R) § U
3T
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10.

The role of social women in school

setting 1S ..oovvvvvvvvevinennnnns .
(@) Preventive

(b) Rehabilitative

(¢c) Enabler

(d) Mediator

Choose the correct answer from the

codes given below :
Codes :

(A) (a), (), (), (d)
(B) (a), (b)

(©) (a), (b), ()

D) (), (e)

The Prevention of Corruption Act

was passed in the year :

(A) 1998

(B) 1988

(C) 1978

(D) 1987

‘Passive euthanasia’ is .............. .

(A) The withdrawal of life support
to patients

(B) Allow to take lethal injection
(C) The withdrawal of food
(D) Allow to suicide

10.
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AT & AR el fHeh
S TR T9d 2

(@) FideERER
(b) YAEHAHR
) =&
(d) A9

(a o

Trell feded Hehdldhiqa dTd ST

ferer .

Hehdich :

(A) (@), (b), (c), (d)
B) (a), (b)

(C) (@), (b), (c)

(D) (b)), (c)

YSITIR fdsieieh shTIgT shIoTed IS qRid
EI L
(A) 1998

(B) 1988
(C) 1978
(D) 1987
‘ftra T’ w|US e

(A) UM Site A Yol shigd
Ll

(B) WIUTEITGe ST gg E0A AT
<0

(C) 3191 T &g H0

(D) STHEAT WA 20




11.

12.

13.

Feminism focuses on :

(A) Recognition of female

domination

(B) Subordination of women’s

labour
(C) Acceptance of women’s role
(D) Acceptance of role of male

Disaster management strategies

should be :

(A) Reactive

(B) Proactive

(C) Counteractive
(D) Demonstrative

‘Apartheid’ refers to .......cccceeeeeeeeeiins

discrimination.
(A) Social

(B) Political
(C) Racial

(D) Economic

11.

12.
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fERr= hafg @ :
(A) wfear=a gycmE q=d

(B) Toramem smma TioremM

(C) Hfgerrean yfHeh=n wihR
(D) qes=A1 ffHehen T
ST AL AR &
(A) wfafssarcaes

fay

(B) QaTgHTd-Shell

(C) TITHE

(D) WeIhIcH

(A) THINTR
(B) USThid
(C) 9ut

(D) afefen
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14. Assertion (A) :The

inclusive
growth approach
takes a long-term

perspective.

Reason (R) : The focus is on
productive
employment as a
means to raise the
standard of living of
the poor and
excluded groups
through increasing

their income.

Choose the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) 1is not the correct

explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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14. faam (A) : wAgAEIE FigAr

STEfTaT g sStahiA

TRl

®NUT (R) : M1 Hhxfag 3cqGHh
TSR 3TYH, A= T

O STHATAT: R

YT 918 h&EA
TR g1 aTefan
B,

[N

arell feded Fhdrhiqd g ST

.
|5|5|€ :
. .
.
:

(A) (A) T (R) Sr&l SR TTed AT

(R) ¥ (A) ¥ 379 TILHI 31T

-~

(B) (A) 9 (R) T&l SeR 3Ted qUl

(R) T (A) ¥ 3T TIRIHI0 e

(C) (A) ® e} 3M8 90 (R) & I
E3IE

D) (A) & I 3R 99 (R) ¥ SN
3T




15.

16.

17.

Child helpline no. is ......ccccevvvveeneene .
(A) 1084
(B) 1098
(C) 1007
(D) 2001

............................... is associated with
National Alliance of Peoples
Movement (NAPM).

(A) Anna Hazare
(B) Arvind Kejriwal
(C) Medha Patkar
(D) Rajendra Singh

.......................... is development that
meets the needs of the present
generation without compromising
the ability of the future generations

to meet their own needs.

(A) Social Development

(B) Sustainable Development
(C) Inclusive Development

(D) Economic Development

15.

16.

17.
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ATARTH HSd HI oIS 7. § T8 ¢
(A) 1084
(B) 1098

(C) 1007

(D) 2001

I STAIE % fU9ey Hegh=gi

(C) AT TEah

(D) TS fam

U 311 faenr S vfosardia

U= amael desiie 9 hidl odHM
U= e YrEdl.

(A) gmHifSies foermd

(B) IMd faemd

(C) gHEYS TR

(D) emfefer fasma

[P.T.O.



18.

19.

Right to Information Act came into
existence in the year :

(A) 2004

(B) 2005

(C) 2006

(D) 2007

Assertion (A) :The core domain of
CSR goals are triple
bottom line is

people, planet and
profit.

Reason (R) : It is the commit-
ment of business to
contribute to sus-
tainable develop-

ment.

Choose the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) is the

explanation of (A)

not correct

©)
(D)

(A) is true but (R) is false
(A) is false but (R) is true

19.
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(A) 2004
(B) 2005
(C) 2006
(D) 2007
faa= (A) : f9.T@.am. (CSR) =
e 2y H-ds T
S —dlh, T8 S
BRI CE

ITeTl T ferehrar=an
A ST 3TR-

Tifac T8 U

Trell feded Heahdldhiqa a1 ST

REEIRE
S
(A) (A) T (R) Sr&l SR Ted AT
(R) T (A) 3 T TRH TR

T (R) :

fa =

(B) (A) 9 (R) T seR 3Ted a0

(R) T (A) ¥ 3T TIRIHII e

(C) (A) 8 IR 38 99 (R) B I&
3R

D) (A) § I AR T (R) & TN
EIE




20. Assertion (A) :India is unlikely to

achieve all the
Millennium
Development Goals
(MDGs) set to
improve its various

social indicators.

Reason (R) : Indian political
system and social
policy framework is

a major hurdle.

Choose the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) is not the correct

explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

20. fagam™ (A) :

MAY - 20216/II—C

fafay wmfSes fFRevea

(el

G TRHEd ETUDIEIG)

ORA, Ge&reh o 29

halfad UK s U

TR,

ORAA SThT e

arfor wmETfS® €Yo

T (R)

A § UHE STEYw

TR
el feded Fhdrhiqd g 3T
IREEINE
U

~

(A) (A) g (R) T2l sIsR 2A_d 3Tfor

(R) T (A) T T TRH Y

(B) (A) 9 (R) <=l ==X 3Rd I
(R) T (A) o T TILHI

(C) (A) & I 3 9 (R) § I
Sl

(D) (A) T g% 3@ T (R) B SN
3T

11
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21.

22.

23.

Social Action is a ....cccceeeevninnnnnnen.
method.

(A) Primary

(B) Secondary

(C) Additional

(D) Tertiary

The oriental philosophy means :
(A) Ancient

(B) Eastern

(C) Western

(D) Modern

Which of the following is the core
skill required in social work
practice ?

(A) Resource mobilisation

(B) Communication

(C) Co-ordination

(D) Planning

22.

23.

MAY - 20216/II—C

(B) =

(C) IT=h
(D) T

AT qooH RIS
(A) =

(B) e

(C) Tfs=rarea

(D) 3R

TSI TTEdeh] Il &

FIRTCATE] STEvIHhdl 3T 7
(A) HEEA JBaaa

(B) HTHA

(C) T9=F

(D) fE~H

12
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24. According to whom social work deals | 24. FIT=a1 #d HHTSIGRTE © AIRTHETS!
with economic well-being and TR fIehTd 9 TR &id IS T
sources of happiness for people ? A ?

(A) H.H. Stroop (A) TATH. =1

(B) G. Konopka (B) . @R

(C) Friedlender (C) fiReeiex

(D) B.E. Younball (D) sitE. Fara

25. Assertion (A) :The role of | 95 faam (A) : =sgEEifas  gHE1=-

professional social et e =S
worker is - -
. AT dedlflledldie] I

empowering and 0
capacity building T TTeT G0 9
of the oppressed AT SO 2.
and the &wRUT (R) : SAEEIfa®w §HTS-
marginalized c e N

. . nldencdlens  AHISIAld
sections of society. )

Reason (R) : Professional social SR =31 |HE1
workers  have BT TS  STEvdh
requisite skill and FITCT & ATl
se'nsitivity to deal X
with the problems N D
of such sections of il Ifqcdedl HehdlenldH '&ﬁ'rq SASES
the society et .

Choose the correct answer from the Hehdih :

codes given below : (A) (A)F (R) S & e s s

Codes : .

(A) Both (A) and (R) are correct and (R) & (A) & T TR e

(R) is the correct explanation (B) (A) 9 (R) SI=El = Aed
of (A) (€) (A) ¥ s R, 90 (R) ¥ IH

(B) Both (A) and (R) are not correct o

(C) (A) is correct but (R) is wrong

(D) (A) is not correct but (R) is D @) ® kS3 3“%’ ™ (R) ®

correct Sl
13 [P.T.O.
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26. The Constitution of India provides 06, WITE GhyUERTE T SRR
the fundamental right :

(A) Right to property (A) Hufe= STEHR
(B) Right to equality (B) THMAET SAHHR
(C) Right to leisure (C) SEMET ARHR

(D) Right to welfare (D) Ao SATHHR

27. Assertion (A) : Resurgence of civil 97. faam (A) : AR WA TREEH ®

society believes in )
qygrg Ao AT

resurgence of
autonomy of e ITaR favarg Saq.

communities and
®RUT (R) : SIfwRa Acgca aArfo

AR TT LR

collectives of

people

Reason (R) : They don’t believe Heclisn AR TR oAd

in empowerment .

o N

@ el fodiean Hehdieiqd JE I

of political leaders

and parties.

IREEIRE
Choose the correct answer from the
codes given below : Hendieh
Codes : (A) (A) 9 (R) S IR 3Tgd 37T
(A) Both (A) and (R) are true and R) B (A) 9 3Tk TLIH A

(R) is the correct explanation

(B) (A) d (R) T=l sREX 3Ted qUl

of (A)
(R) T (A) ¥ 3T TIRIHI0 e
(B) Both (A) and (R) are true but
(R) is mnot the correct (C) (A) & seR 3¢ 90 (R) & I
explanation of (A) e

(C) (A) is true but (R) is false D) (A) ? I AR 9 (R) ¥ e

(D) (A) is false but (R) is true R

14
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28. ‘Swadhar scheme’ is concerned 908, ‘TETER A ATt SEfud ST
with :
A) wfgen sToeh
(A) Women Prisoners (&)
(B) Women survivors of natural (B) i IR STefeTeied] HieeT
disaster () s Wh
(C) Physically challenged women )
(D) 3TaskaRYe &fausd Afge
(D) Women victims of terrorism
29. The following are pre-requisite in 29. WHENTFCAT HeA=A AT FRA
order to register a social welfare FAETTR IR ¢
organisation : . - o
g (@) <N & 0T HHISR  STTofle
(@) Good intensions and social
consciousness (6) =
(b) A Memorandum of Association (c) oHeTE B3k
(¢) A group of individuals d) TSR P9F ot =W
(d) Aims and objectives of N .. .
Yl Iqeded]l Hehdlehldgd SHeeh s
Association € kS
fas
Choose the correct answer from the ®U
following codes : Hahdis :
Codes :
(A) (a), (b) T (c)
(A) (a), (b) and (c)
(B) ), (c) T (d)
(B) (b), (¢) and (d)
(C) (a), (b) and (d) (C) (a), (b) T (d)
(D) (a), (¢) and (d) D) (a), (c) T (d)
15 [P.T.O.



30. The demographic transition refers

31.

|7 SRR .

(A) An increase in the birth rate
(B) An increase in the death rate
(C) Vertical growth in population

(D) A change in the ratio of birth
to death

Assertion (A) : Homelessness is
steadily growing
as a phenomenon

in India.

Reason (R) Housing is
becoming unaffor-
dable the

common person.

for

Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) i the

explanation of (A)

1s not correct

(C)
D)

(A) is true but (R) is false
(A) is false but (R) is true

MAY - 20216/II—C

30. AHEEdA 98 WUN

31.

(A) S 916
(B) JIRUdA a1
(C) SEETH 916

(D) S 3O GG O JHTOT

Byl

faam (A) : 9RA SR AR
e e o o,

®RUT (R) : HAHIHRU SRl =
TRl X0 7 TSR
3R,

aet feaea Hehdiergd AT 3T

eren -

Hehdieh :

(A) T=T (A) 301 (R) s 7 (R)
T (A) T TH SRR AR

(B) I (A) M0 (R) =eR 3Ted W
(R) T (A) ¥ 3T TIRIHII e

(C) (A) § SR R W (R) ¥ I%
3R

D) (A) T I 38 WJ (R) T SR
3T

16



32.

33.

Farmers suicides are generally
attributed to :

(@) Change from food to cash crops
(b) New economic policy

(¢) Depression among farmers

(d) Industrial policy

Select the correct answer from the
codes given below :

Codes :

(A) (a) and (b) are true

(B) (a), (b) and (c¢) are true
(C) (b) and (c) are true

(D) (a), (b) and (d) are true

Current debates around the land
acquisition bill revolve around the
following clauses :

(@) Consent clause

(b) Social impact assessment clause
(¢) Special economic zones

(d) Compensation clause

Select the correct answer from the
codes given below :

Codes :

(A) (a), (b), (c) are true
(B) (a), (b), (d) are true
(C) (b) and (c) are true
(D) (a) and (b) are true

MAY - 20216/II—C

32. WTATA AT HB TAHRIU  STCHEAT

Hedld.

(@) STEATAT IURATIYT SR
frwmel agd

(b) oA Tk &R

(c) TAH-THLE I

(d) STENfes &R

arell ool Hehdlhlqd g Sadre]

[EEENCTUE

Hehdich :

(A) (a) 3O (b) X 3R

(B) (a), (b) A (¢) IR 3Rd
(C) (b) MU (c) S&X 3T

D) (a), (b) 3T (d) SR R

33. qeARyda e ifemEn fagemas

IV deer defaars Bidled 2
(@) Gt

(b) WIS W& e

(c) Tavm sufefew &

(d) THEANITE

TTelt feeed Hehaehid 3T Sl
fee =0 .

Hehdiah :

(A) (@), (b), (¢) T T 3T
(B) (@), (b), (d) & SR TR
(C) (b) 3T (c) B SRS 3T
(D) (a) 0 (b) B SRS 3T
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34. The theory of moral development

35.

36.

among children was proposed by :
(A) Skinner

(B) Kohlberg

(C) Piaget

(D) Bandura

The proponent of ‘Need for

Achievement Theory’ is :
(A) McClelland

(B) Maslow

(C) Herzberg

(D) McGregor

Which of the following is not a
role of a caseworker in a school

setting ?

(A) Assessing reasons for children’s

scholastic difficulties

(B)

Counselling parents

(C) Working with teachers to

enhance students well-being

(D) Assisting children through

academic inputs

34. IAkMETA Afdeh

35.

36.

MAY - 20216/II—C

~

faerTaTeiel T

HIUt QR el ?
(A) THIT

(B) whieTerert

(C) frmst

(D) =gy

Tt g S v Bd ?
(A) HETAS

(B) Wt

(C) wsiert

(D) HARITR

M A STkl Fer=d  shrddhare
TICACTUsh! IO T A&l TR ?

(A) HAT=a1 TMLSHAfera Iusar=t
FHIROTHHET

(B) UIcTohT™ TRIUQSM  ShI0]

(C) TorerrTeRieR qarr=n fashre garame
HE H

(D) forefomgR HAAT HEAd HI0)

18



37.

38.

39.

Who client-centred

therapy ?

(A) Carl Rogers
(B) Anna Freud
(C) Paul Goodman
(D) Addler

proposed

Problem-solving model is related
to :

(A) Gladstein

(B) Perlman

(C) Mary Richmond
(D) Garret

Which of the following is a type of
classified diagnosis by Helen
Perlman ?

(A) Current diagnosis
(B) Medical diagnosis
(C) Clinical diagnosis
(D) Therapeutic diagnosis

37.

38.

39.

MAY - 20216/II—C

st fsd STaRYSd vl qi&hd
Helt ?

(A) e WTH
(B) 31 WwrES
(C) Ul T[eHA
(D) e

T faRo UeY ¥ IRt Seted
AT :

(A) Tefefied

(B) Teiwd

(C) T f=ve

D) N2

WICACTUhT RV UGd & ol IetHTe]

ihd M Ugdi=n YR e ?
(A) TaaH fem
(B) dusg oM

(O RIUICEPCEREHE

(D) SUIRIHe THeM

40. Empathy means :
40. STIYA WS
(A) Moods of the person
(A) et H feert
(B) Feeling with another person o
(B) SH-I1 HKIIfoI=l el
(C) Development of an emotional N ~ N
perspective of the problem (C) HHETEd=AT HEsh GEE[hIUITH]
El
(D) Need to understand the person’s R
problem (D) K= FHE SUE Sl TS
19 [P.T.O.



41.

42.

Who is closely associated with the

study of ‘Group Dynamics’ ?
(A) Ruth Smalley

(B) Grace Coyle

(C) Kurt Lewin

(D) Bales

Assertion (A) :The practice of
social group work
is important for

social action.

Reason (R) : Social Action is
essentially a group

work activity.

Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) the

explanation of (A)

is not correct

(C) (R) is true but (A) is not true

(D) (A) is true but (R) is not true

41.

42.

MAY - 20216/II—C

e Tfaieid=a ST ia Weiierieht
HIV I Gefad A® 2

(A) & Tl
(B) U9 I
(C) o el
(D) sH

fagm (A) :  TESHEET AT HHISR

HTETel Hewaqul ST

TSI el & STavTh

3TSM e AT SThH

AR,

Tt Fehdmhldia ard g fee

{0

Hehdich :

(A) (A) 9 (R) TI=I SeR e 101
(R) B (A) o 3T TREH 3R

T (R) :

(B) (A) 9 (R) Sr=t siIe} 378d 997 (R)
T (A) T IH TR AR

(C) (R) ¥ SRR 3R U0 (A) ¥ 9%
3T

(D) (A) B SR 3R 99 (R) ¥ I
Sl
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43. The following are included in basic | 43. WTeliciyeshl HEN DR TS HIATEN
skills of social group work : HAYd FIYId THEY Bl
(@) Skill in purposeful relationship (@) IErequl TS UTESd R
®) Skill  in  programme (b) T T A
development . e N
(c) HAYAHHAET <hRTeH
(¢) Skill in communication
(d) Tqa HEH
(d) Skill in leadership N A
W[l [qeded] Hehdlehldlcd ?iﬁ"'q 'q_q'f_q
Choose the correct answer from the e
codes given below : .
Hehdich :
Codes :
(A) (a), () T (d)
(A) (a), (c) and (d)
(B) (b), (c) T (d)
(B) (b), (¢) and (d)
(C) (a) @ (D)
(C) (a) and (b)
(D) (a), (B) T (c)
(D) (a), (b) and (c)
44. Which one of the following is not a 44. TICAHH W T FHI ST T
part of group processes ? Aqe ?
(A) Sub-group (A) 3T
(B) Group diagnosis (B) TN
(C) Group meetin
Hp meeting (C) T
(D) Isolation of a member in the
(D) T HEEE Tl
group
21 [P.T.O.



45.

46.

47.

Which of the following is a reference

group ?
(A) Occupational group

(B) Group taken to evaluate one’s

own aspect of life
(C) A relatively larger group

(D) A group which allows for social
mobility

Characteristics change tactics and

techniques in social action is :
(A) Consensus

(B) Consensus or conflict

(C) Conflict or contest

(D) Group discussion

Building consensus is one of the
characteristic method of the following

community organisation model :
(A) Locality Development Model
(B) Social Planning Model

(C) Social Action Model

(D) Social Participation Model

45.

46.

47.

MAY - 20216/II—C

Eeade! U Hed e IR ?

(A) SHEETS T

(B) WA= SaAfIs e JedehATee]
EENNIRIC

(C) HeHM=I Higl e

(D) GHISeh Tfqeiieidd SamTl QU
T

ISR FeHed afTseaql sea it

q T "N

(A) Ao wefoan

(B) woe fepan Ty (o) =01

(C) fad foran emém i

(D) &qe ==

TTeleieh! THR™ GEeAd HIUN UIEd

TR Arefguararel aftTsegul e ?
(A) T fasm gy

o o

(B) 9m™HISTeh T

N
S HiwY

(C) 9mIfSeh Fell W&

(D) TSR T4l 9r&d
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48.

49.

50.

The principle of inter-group
approach in community organisation
has its roots in understanding of :

(A) Communities within comm-
unities and overlapping and

inter-penetrating communities

(B) Secterian groups within
communities
(C) Caste and class groups in the

communities

(D) Individuals and groups within

communities

Who wrote the book “Community
Organisation for Social Welfare” ?

(A) McNeil C.F.
(B) Kuenstler Peter
(C) Khinduka S.K.
(D) Ross M.G.

Social system approach in
community organisation practice
examines the :

(A) Local social functions
performed by members of
community

(B) Prevailing discriminative
practices among the members of

community

(C)

Human Resources available in
the community

(D) Division of Indian Society in

different Varnas

48.

49.

50.

MAY - 20216/II—C

e HeETHH A MR- HEgH-
HIATAT

e ?

GAGIE! HATEMY  hRTd

(A) HHSESTA FRE 9 Jresied
T STR-To TR

(B) SHRHIA HIURTa® e

(C) THgEmHd S oo o7 Hqe

(D) FHIMETdE ekt ol |HE

FHIS SHeAIEIS THEE e (et
STHEEE BR AfETd JahsR) §
TH Fv fafeadr ?

(A) Hafia 91.TF.

(B) =¥ T4

(C) fergst wa.=.

(D) TF THSH.

TS ¥ UGAHed HMISieh Haee
gSeIhId (HTATSAT) HEMS GIH&T0T
A ?

(A) IEHEEA =l IR qrEarad
Tofeh grIfSieh i

(B) ¥HSETd A HeeAea gafed
YSHET ANTIH

(C) HHSTATd 3IUcTedl Had HIAS
ESEIE]

(D) AR FHArT fafay sufaed g
IECISE!
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